AN
AYd

HANSH

© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024

53602201 HANSAMOTION - Wastafelkraan

EAN: 4015474106789
static.hansa.com/53602201

Reserveonderdelen
SP53602201
Naam Code

1 Hendel Chroom 59912854
11 Schroef, M5x8, SW2.5 59904755
12 Joint klassiek uitloop 59904778
15 Kap 59912856
16 Schroef, M4x10 SW2.5 59912855
2 Mousseur, (2008-) 59913248
23 Mousseur 59912858
23 Mousseur, (2008-) 59913248
24 0-ring, 50.52x1.78 59906841
3 Bevestigingsschroeven, M50x1 59912859
32 0-ring, 34x2 59912533
4 Binnenwerk, 4.0 Classic 59912791
4.1 Temperature adjustment limiter 59912799
b4 59912860
45 Doorvoerbegrenzer, 8L/min 59913095
46 0-ring, 9x2 59905095
5.1 Trekstang Chroom 59912804
52 Gewrichtstuk 59904624
53 Dichting, 43x37x3 59912506
55 Fixing plate 59904765
5.6 Schroef, M8x1, SW13 59904766
57 Bevestigingsset 59910749
58 Flexibele aansluitingen, L=430, G3/8-M10x1 59912515
59 0-ring, d 7.65x1.78 59902337
510 Vuilfilter 59911684
512 Bevestigingsschroeven, M8x1, L=140 59912474
7 Wastegarnituur Chroom 59911441
N.I. Koppelingsbuisdeel], L=430, M10x1 59912550
NI Ratel, SW36 59913900

1


https://static.hansa.com/53602201

